CRG PARTS LIST 2025

REAR AXLES

ES COD ITEMS ITEMS PRICE (FiiA)
FBN.05104S J7%%7t 30/S Mini/Baby (90-100) Axle 30 950 black S ¥ 42,900
FBN.05104 J7%7k 30/M Mini/Baby (140-150) Axle 30 950 black M ¥ 42,900
FBN.05104H J7%%7t 30/H Mini/Baby (210-220) Axle 30 950 black H ¥ 42,900
FBN.00446 J7%%7h 40 STD Black Axle 40 std black M ¥ 42,900
FBN.00155 J7%%7F 50 M20 Black (160-170) Axle 50 M20 std black 1020 ¥ 46,200
FBN.01313 J7¥%7k 50 M20 KZ Black R 1040 Axle 50 M20 std black R 1040 ¥ 51,700
FBN.01309 J7%%7F 50 S20 Black (60-70) Axle 50 S20 std black 1020 ¥ 46,200
FBN.01311 J7%%7h 50 S25 Black (80-90) 2.5 Axle 50 S25 std black 1020 ¥ 46,200
FBN.155T1 747t 50 T1 Black (110-120) 2.5 Axle 50 T1 black 1020 ¥ 46,200
FBN.155T2 J7%%7h 50 T2 Black (200-210) Axle 50 T2 black 1020 ¥ 46,200
FBN.T2RIN.1040 Y7¥%7F 50 T2 KZ Black R 1040 Axle 50 T2 black R 1040 ¥ 51,700
FBN.155T3 J7%%7+ 50 T3 Black (90-100) Axle 50 T3 black 1020 ¥ 46,200
FBN.155T4 J7%7b 50 T4 Black (140-145) 2.5 Axle 50 T4 black 1020 ¥ 46,200
FBN.155T5 J7%%7h 50 T5 Black (230-250) Axle 50 T5 black 1020 ¥ 46,200
FBN.T5RIN J7¥%7F 50 T5 KZ Black R 1040 Axle 50 T5 black R 1040 ¥ 51,700
FBN.155T6 J7%%71 50 T6 Black (110-120) Axle 50 T6 black 1020 ¥ 46,200

1 FKG.02627 Bushing kit for axle DD2 gold

Durezza assali - Axles thickness

@50 2 3mm

S  HB10-130 | ™ e oe-m M20/22 HE 160 - 170
M HE 170-180 -

T6 HB 110- 120
H  HB180-200 | 17 mes-im0 250 2,.5mm

§25 HB 80-%
T1 HB 110-120
T4 HE 130- 140

HBE 160- 170
HE 200-210
T3 HE 230-230

AERmO - R FEKERTHHENHYET 15



CRG PARTS LIST 2025

FLANGES

ES COD

N 2 >

FK0.02951KZ
AFN.00968
FMG.03322
FMG.03323
FMG.03324
S70.00609
FC0.02869
AFN.00657
AFN.01637
AFN.00129
AML.02872
S$70.03143
AFN.03149
AFN.00284
S70.03145
FAN.01462
AFN.00108
AFN.00128
$70.03144

D2 73
\ 5
Y 11 .
YL NV . (3 .:’3‘
&' 2 3.2
1 J \
- 5.
' .- 6 . o
- = 16 14 \3‘ PO
B ':,.’.;.15
- - '
V
SN « 10
7
ST A
el fi R
o 42 13 14
f;' f rt{’""’c
g
ITEMS ITEMS

ATYVHENSE— AS Kit D50/2mm
7709 Wb M8x25

CRG A 7YY HIL4 — AS D50 4mm/GOLD
CRG A 7Yy k4 — AS D50 6mm/GOLD
ATYUYHILE— AS D50 8mm/GOLD

7 V-$FpYN-EK9MRILE AS 10x23
V05 )77 =33+ —7°b—} AS (195)
Ay)Fyk M10/Low

U9 EVIyYe— 10.5x20x2

7V-3T4RY7 ' 0TIvav R —b AS
ATV R =Y ME =T U—F X

759V K Ik M8x40

EH bbb Long X
Y73+ —AA—¥— HYBRID 21x18

E R MR L Short X

AERmO - R FEKERTHHENHYET

16

Axle flange adjustment system 2
M 8x25 flanged screw

Axle flange 50 adj. system 4x4
Axle flange 50 adj. system 6x6
Axle flange 50 adjustable gold 8

M 10x23 stud brake caliper supp.
Caliper supp. wheel base adj.(195)
Nut M10 low self-locking

Washer 10,5-20x2

Washer 8,5-17x1,5

Disc protection support

Plate for seat support rinforcement
M 8x20 flanged head screw

M 8x38 flanged head screw

Long Stud mod.X2

Caliper spacer hybrid 8,5x21x18
Washer 8,5-18x2

Nut M8 high self-locking

Short Stud mod.X2

PRICE (fi)

¥
¥
¥
¥
¥
¥
¥
¥
¥

+

61,600
330
15,400
15,400
15,400
1,870
8,030
110
110

3,850
4,950

330
1,760
770

66
1,760



CRG PARTS LIST 2025

FLANGES
19 20 21
v Qi Y
ES COD ITEMS ITEMS PRICE (F#)
1 AFS.0024601  YPY47bA°H'%— 2P 34x7.4 Rear axle keyway 2 pins ¥ 2,420
2 AFS.0024701  YPY¥7hAH%— 3P 17x17x7.4 Rear axle keyway 3 pins ¥ 2,420
3 FL1.01022 Nylon internal spacer sp.2
FL1.01024 Nylon internal spacer sp.2,5

4  S70.00665 7947 +4— 8x7x80mm Keyway 8x7x80mm mini ¥ 1,100
5 SZ0.00664 U7Yv7hE— 8x7x60mm Keyway 8x7x60mm mini ¥ 880
6 AFS.01019 7947 +4— 8x5x50mm Keyway 8x5x50mm Puffo ¥ 880
7 FMG.00512 ATYUYELS - 30 Axle flange 30 mini ¥ 16,500
8 FMN.02413 Axle flange 30 4H mini NA3 complete

9 FMN.00449 Axle bearing flange 40 3H complete

10 FMG.03418 A'TYYY IS = 50 Hybrid R-LINE GOLD  Axle flange 50 hybrid R-Line gold all. ¥ 18,700
11 FMG.03324 ATV RS~ AS D50 8mm/GOLD Axle flange 50 adjustable gold 8 ¥ 15,400
12 FMN.03324 Axle flange 50 adjustable black 8

13 FMG.04951 ATYVY HIVE— 50 Hybrid GLM Gold Axle flange 50 hybrid GLM gold all. ¥ 18,700
14 AFN.00396 YPYeTIA YV 25 Axle bearing 25 grub screw ¥ 9,900
15 AFN.00655 P27 TYVS" 30 Axle bearing 30 grub screw ¥ 9,900
16 AFN.00448 FY¥IMATYLY" 40 Axle bearing 40 grub screw ¥ 12,100
17 AFN.01356 7937 TYVY" D50/80 Axle bearing 50-80 grub screw ¥ 13,200
18 AFN.00157 7Y%7bA'TYYY" D50/90 Axle bearing 50-90 grub screw ¥ 13,200
19 AFN.00289 1E2Y" M6X6 25 A FYVY° Grub screw M6x6 std ¥ 770
20 AFN.01373 1E4Y" M6x6 30 A'TYVY" Grub screw M6x6 thin pitch ¥ 770
21 AFN.01372 1E4Y" M8x8 40/50 A'TYYY’ Grub screw M8x8 for axle bearing 40/50 ¥ 770

AERmO - R FEKERTHHENHYET 17



